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Mr. Lynch

Part I:  Place the letter of the correct answer on the line provided!
_____ 1) ΔABC with AB 
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BC.  If the measure of <A is 26°, find the measure of <C.


a) 26°


b) 52°


c) 128°


d) 180°

_____ 2) If the length of one base of a trapezoid is 68 and the other base is 100, the length of the midsegment is:


a) 68


b) 84


c) 100


d) 168

_____ 3) Find the equation of a circle with center (-9,4) and radius of 3.



a) (x – 9)2 + (y + 4)2 = 3

b) (x – 9)2 + (y + 4)2 = 9




c) (x + 9)2 + (y - 4)2 = 3

d) (x + 9)2 + (y - 4)2 = 9
_____ 4) In square ABCD, the length of side AB is 26.  Find the length of diagonal AC.


a) 26√2

b) 26√3

c) 13


d) 52

_____ 5) Find the value of x:
                                                                                               

                                                                                       48°

                                                    148°                                                   x



a) 48°


b) 148°


c) 100°


d) 50°
Part II:  Complete each of the following!
6) Two triangles are similar.  The lengths of the sides of the larger triangle are 25, 28, and 34.  The longest side of the smaller triangle is 17.  Find the perimeter of the smaller triangle. 
7) Find the distance, midpoint, and slope of the following pair of points:
(-6,2) and (-1,3)
8) In the accompanying diagram, points ABC are the midpoints of the three sides of ΔXYZ.  If XY = 30, YZ = 45, and XZ = 42, find the perimeter of ΔABC.

                                                                          X

                                                                    A               B

                                                              Y                             Z

                                                                              C

9) Given: Quadrilateral EFGH with the following coordinates:  E(1,-5), F(7,-5), G(7,-7) & H(1,-7).



a) Graph and label EFGH.



b) Prove EFGH is a rectangle.

10) In circle O, EAB and EDC are secants.  BA = 8, EA = 4, and CD = 2.  Find the length of DE.
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